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Oppgave. 2 %

T 50kNm
2t 271002 mm?10mm

a) Koordinatspenninger: 7 = Iz—r =79.6 MPa

p

o, =L p=200mm 6 MPa = 100 MPa

t 10mm

o, N r N 100MPa 200kN
g,=—+—=—p+ = +

2 4 2 2mrt 2 27100mml Omm
Hovedspenninger:
2 2
o, = o, +0, 4 [[Ge=%e ) 4,2 81'8+100:t 81.8-100 +79.6°
" 2 2 2 2
= 90.9£80.5 o, =171.4 MPa o, =104 MPa
o, =0
Hovedspenningsretning:
@, = arctan - arctan 21— %2 arctanw- ~48.3°
o,—-C T 79.6

z

@, =0, +§ =138.3°

b) Maksimal skjeerspenning;:

= (50+31.8)MPa ~ 81.8 MPa



c)

Tots = 2O s = T} = (6, —0)= 1 +171.4MPa = 85.5MPa

Torsjonsmoment ved flytning:

Mises: o0 +0,—0,0,+37 =0}

- \/a; ~02-0)+0,0, _ stoz —81.82 —100° +81.8-100
3 3

T =2t -7 =27 -100 mm® -10mm-134.2 MPa = 84.325 kNm ved flytning

MPa =134.2 MPa
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